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Dear Whately Caringbon.

I am afreid I am enawering your letters 1n tha
wrong order. This 1s the ome you wrote on Aprll 23rd.

I think you hitve oarrled out the salculations
exaofly as should be done, Neverthelsss, thers 1p a anag in
the interpretation of the comparison om pege 2 where there
scemsa to be some real discrepancy, due to the coocurrence of 3
cbservers giving exaoctly the right number of correst guesses,
whereas th-)(-'autrihutim has only 1% of its frequenoy below
the wvalue ,0001E7.

The point I want you to consider 1s thim

For emoh observer you have taken a mmber of guesses
divisihle by 8; ocmnsequently the mumber correct is qthll
exactly equal to edpeotation, or differs by 1, 2, oto, units
above or below, For example: observer :Hu.LE!u makes 180
guesses, If he had 19 or 81 right, hu:)cf_ would be .08
naving 20 right, his wvelue is exmotly gero, In faot, apart
from zero, hil;:\‘.’f-humut take eny velue below ,05. The
same scrt of thing is true of the others, and in conssquenss
thers is an acoumulation of ,:l-_","-vlluﬂ at exaotly zeroc, In
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comparison with the thecretloal distribution of the B values
expeoted below ,0842, In fact, below ,0158, you have B observa-
tlone where 4 are expeoted, and what 4s exoeptional about your
dlstribution is only that 3 out of the & should be absolutely
geTo,

The rough safe-guard in interpretation whioh T suggeatsad
in my book, 1s to emalgamate the smaller frequency classes into
groups having expeotabtions of not less than 5, If wa relmx this
restriction so ms to take en expeotation of 4 in eash tail of
your table, we have for £ clasmes or 7 degrees of fresdem, only
& total of 11,875 Instead of 33.% 78, which 1s by no means
aberrant. .

Yours sinserely,



